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PART - A 

1. ऩूॉजीगत व्ममों के दो उदणहयर् दें। 

2. गैय व्मणऩणरयक सॊस्थणओॊ की आम के दो भखु्म स्रोत क्मण हैं ? 

3. सणझदेणयी सॊरेख के अबणव भें सणझदेणय ककस अनऩुणत भें रणब-हणनन कण ववबणजन कयते 
हैं। 

4. रणब प्रणप्तत अनऩुणत ज्ञणत कयने कण सतू्र दीप्जए। 

5. ख्मणनत के भलूमणॊकन की ककनहीॊ तीन ववधधमों के नणभ फतणइए।  

6. नमण रणब - ववबणजन अनऩुणत क्मण है ? 

7. औसत रणब ववधध के अनतगगत ख्मणनत की गर्नण कण सतू्र दें। 

8. सणझदेणय के उत्तयणधधकणयी कण खणतण कफ खोरण जणतण है ? 

9. भतृ सणझदेणय के ऩूॉजी खणते भें डबेफट ककमे जणने वणरे भदों को फतणइए। 

10. पभग के सभणऩन की दशण भें सम्ऩवत्तमों से ववक्रम की यणमश को सवगप्रथभ ककसे 
बगुतणन ककम जणमेगण ? 

11. वषग 2013 भें प्रणतत चनदण रु० 30,000 हैं। गत वषग के अनत भें अदत्त चनदण रु. 
20,000 वषग 2013 के मरमे चनदे से आम की गर्नण कयें। 
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12. रणब-हणनन सभणमोजन खणतण क्मण है ? 

13. यणभ औय यहीभ सणझदेणय हैं। यणभ ने रू० 2,00,000 तथण यहीभ ने रु. 2.50,000 
ववननमोप्जत ककमे। सणझदेणयी रेख के अबणव भें रु. 50,000 के रणब भें प्रत्मेक कण 
हहस्सण फतणइए| 

14. सणझदेणयी पभग के ऩनुगगठन से क्मण आशम है ? 

15. सणभणनम रणब तथण अधधरणब से आऩ क्मण सभझते हैं ? 

16. यणजयतन औय भतृ्मुॊजम 3:2 के अनऩुणत भें रणबों को ववबणप्जत कयते हैं। शमश को 
1/3 बणग के मरमे सणझदेणयी शणमभर कयते हैं, तो नमे 'रणबणरणब की गर्नण कयें। 

17. भतृक सणझदेणय को देम यणमश के मरमे क्मण जनगर प्रववप्टट की जणमेगी ? 

18. पभग के सभणऩन की दशण भें पभग की सम्ऩवत्त ककसी सणझदेणय द्वणयण रेने ऩय क्मण 
प्रववप्टट की जणती है ? 

19. प्रणप्तत एवॊ बगुतणन खणतण की चणय ववशषेतणओॊ को फतणइए। 

20. सणझदेणयी की चणय ववशषेतणएॉ फतणइए। 

21. ख्मणनत को प्रबणववत कयने वणरे तीन घटकों को फतणइए। 

22. ख्मणनत गर्नण की औसत रणब- ववधध तथण अधधरणब ववधध भें अनतय फतणइए। 

23. भतृक सणझदेणयण को देम यणमश की गर्नण आऩ कैसे कयेंगे ? 

24. A, B एवॊ C सणझदेणय हैं जो रणबों को 3 : 2 : 1 के अनऩुणत भें फणॉटते हैं। उनहोंने 
D को 1/6  बणग के मरए सप्म्भमरत ककमण है। मह सहभनत हुई कक C कण हहस्सण ऩयुणनण 
ही यहेगण। नमे अनऩुणत की गर्नण कीप्जए। 

25. P, Q एवॊ R सणझदेणय हैं जो 5 : 4 : 3 के अनऩुणत भें रणब-हणनन कयते हैं। Q 
अवकणश ग्रहर् कयतण है औय उसके हहस्से को P औय 1 भें फयणफय-फयणफय फणॉट हदमण 
गमण। P औय R कण नमण रणब ववबणजन अनऩुणत ज्ञणत कीप्जए। 

26. सणझदेणयी के सभणऩन औय पभग के सभणऩन भें अनतय फतणइए। 
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27. 31 भणचग, 2013 को सभणतत होने वणरे वषग कण भतै्री क्रफ कण प्रणप्तत एवॊ बगुतणन 
खणतण रु. 25,000 चनदे से प्रणतत यणमश हदखणतण है। अनतरयक्त सचूनणमें ननम्न प्रकणय है- 

1.4.2012     1.4.2013 

   रु       रु 

अदत्त चनदण    5,000     3,500 

अधग्रभ प्रणतत चनदण   2,500     3,000 

वषग 2012-13 के मरमे चनदे से प्रणतत आम की गर्नण कीप्जए तथण चनदे से सॊफॊधधत 
आवश्मक भदों की प्रणयॊमबक तथण अप्नतभ प्स्थनत वववयर् भें हदखणइए । 

 

28. ककन-ककन दशणओॊ भें पभग कण सभणऩन ककमण जण सकतण है ? 

 

29. A, B एवॊ C फयणफय के सणझदेणय हैं। 1 अप्ररै, 2012 की उनकी प्स्थय ऩूॉजी थी, A 
रु 10,000 B रु. 20,000 तथण C रु० 30.0001 वषग 2012-13 के मरए रु 12,000 के 
रणब को फणॉटण गमण। आवश्मक जनगर प्रववप्टट कीप्जए, महद ऩूॉजी ऩय ब्मणज 12% प्रनत 
वषग के फदरे 10% प्रनत वषग की दय से के्रडडट ककमण गमण है। 

 

30. X, Y औय Z 3 : 2 : 1 के अनऩुणत भें एक पभग भें सोझदणय हैं। 1 अप्ररै, 2013 
को उनहोंने बववटम के रणबों को 7 : 5 : 4 के अनऩुणत भें फणॉटने कण ननर्गम मरमण। इस 
नतधथ को सणभणनम सॊचम रु 76,000 औय सम्ऩवत्तमों एवॊ दणनमत्वों के ऩनुभूगलमणॊकन ऩय 
रु० 68,000 कण रणब है। मह ननप्श्चम ककमण गमण कक धचट्ठे के आॉकडों को प्रबणववत 
ककमे बफनण सभणमोजन ककमण जणनण चणहहए। एकर योजनणभचण प्रववप्टट द्वणयण सभणमोजन 
कीप्जए।  

 

31. A, B औय C सणझदेणय हैं जो रणब-हणनन को फयणफय-फयणफय फणॉटते हैं। उनहोंने 30 
हदसम्फय, 2013 को पभग को ववघहटत ककमण प्जस नतधथ को पभग को प्स्थनत ननम्न थी- 

आधथगक धचट्ठण (30 हदसम्फय, 2013) 
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सबी सम्ऩवत्तमों से ऩसु्तकीम भलूम से 10% कभ प्रणतत हुए। रेनदणय को ऩरू्ग बगुतणन 
कय हदमण गमण। वसरूी के व्मम रु 500 हुए वसरूी खणतण, सणझदेणयों की ऩूॉजी खणतण तथण 
नगद अथवण फैंक खणतण तैमणय कीप्जए। 

 

PART- B 

32. कम्ऩनी की कोई दो ववशषेतणएॉ फतणइए। 

33. ऋर्ऩत्रों के शोधन के तयीकों के नणभ फतणइए। 

34. ववत्तीम वववयर्ों के दो उद्देश्मों को फतणइए। 

35. ववत्तीम वववयर्ों के ववश्रेषर् की दो सीभणओॊ को फतणइए। 

36. अनऩुणत ववश्रेषर् के दो उद्देश्म फतणइए। 

37. सॊचणरन सॊफॊधी कक्रमणओॊ से योकड प्रवणह के दो उदणहयर् दें। 

38. स्थणमी प्रबणय तथण चर प्रबणय से आऩ क्मण सभझते हैं ? 

39. सॊचम औय प्रणवधणन भें अनतय है ? 

40. ववत्तीम वववयर्ों के ववश्रेषर् से क्मण आशम है ? 

41. तुरनणत्भक ववत्तीम वववयर् ककसे कहते हैं ? 

42. ऩवूणगधधकणय अॊश एवॊ सभतण अॊश भें अनतय फतणइए। 

43. अॊशधणयी तथण ऋर्ऩत्रधणयी भें कोई तीन अनतय फतणइए। 

44. योकड प्रवणह वववयर् क्मों तैमणय ककमण जणतण है ? 

45. चणर ूअनऩुणत 2:1 है। कणमगशीर ऩूॉजी रु. 1,50,000 है। चणर ूसम्ऩवत्त एवॊ चणर ू
दणनमत्व की यणमशमों ज्ञणत कीप्जए। 
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46. कम्ऩनी से आऩ क्मण सभझते हैं ? इसकी आवश्मक ववशषेतणमें फतणइए । 

47. रुद्र कम्ऩनी मर. ने रु० 10 रुऩमे वणरे 35,000 सभतण अॊश रु० 2 अधधरणब ऩय 
जणयी  ककए प्जन ऩय देम यणमशमणॉ ननम्नवत है : 

आवेदन ऩय       रु० 3 

आवॊटन ऩय       रु० 5 

   शषे प्रथभ मणचनण ऩय 

योजनणभचण प्रववप्टट कयें। 
 

48. उवगशी मर. ने एक स्थणवऩत व्मवसणम को 50,000 रुऩमे भें क्रम ककमण, रु० 15,000 
नगद तथण शषे रु० 100 वणरे 9% ऋर्ऩत्रों के ननगगभन द्वणयण 10% के फट्टे ऩय देम 
थे। उवगशी मर. की ऩसु्तकों भें जनगर प्रववप्टट कीप्जए। 
 

49. ननम्नमरखखत आकडों से तुरनणत्भक रूऩ भें रणबों कण वववयर् तैमणय कीप्जए 

वववयर् 31.03.2012 
रु. 

31.03.2013 
रु. 

ववक्रम 6,00,000 8,00,000 
सकर रणब अनऩुणत 30% 40% 
प्रशणसकीम व्मम 40,000 1,00,000 
आम कय 50% 50% 
 
50. ननम्नमरखखत सचूनण से देनदणय आवतग अनऩुणत की ऩरयकरन कीप्जए: 

कुर ववक्रम     रु. 4,00,000 

नगद ववक्रम    20% कुर ववक्रम कण 

प्रणयॊमबक देनदणय    रु. 40,000 

अप्नतभ देनदणय    रु. 1,20,000 
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इंटरमीडिएट परीक्षा - 2014 
(ANNUAL / वार्षिक)  

ACCOUNTANCY  
Time: 3 Hours 15 Minutes             [Full Marks: 100 

PART - A 

1. Give two examples of capital expenditure. 

2. What are the two important sources of income of no profit organisations ? 

3. In the absence of partnership deed, in which ratio do the partners share the profit and 

loss?  

4. Give the formula of calculating Gaining Ratio. 

5. State any three methods of valuation of goodwill. 

6. What is the new profit sharing ratio?  

7. Give the formula of calculating goodwill under average profit method.  

8. When is Partner's Executor's Account prepared?  

9. Mention the items which are debited to deceased Partner's Capital Account. 

10. On dissolution of a firm, out of proceeds received from the sale of assets who will be 

paid first of all?  

11. Subscription received during the year 2013, Rs. 30,000. Subscription Rs. 20,000 was 

outstanding at the end of the previous year. Calculate the income from subscription for 

the year 2013. 

12. What is Profit and Loss Appropriation Account?  

13. Ram and Rahim are partners. Ram invested Rs. 2,00,000 and Rahim Rs. 2,50,000. In 

the absence of partnership deed distribute the profit Rs 50,000 to each partner. 

14. What is meant by reconstitution of partnership firm?  

15. What do you mean by normal profit and super profit ? 
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16. Rajratan and Mrityunjay who share profit in the ratio of 3:2 admit Shashi to give him 
1

3
 share. Calculate the new profit & loss sharing ratio  

17. What Journal entry will be recorded for the amount payable to deceased partner? 

18. On dissolution, what entry is passed if a partner takes over an asset of the firm? 

19. State four features of Receipts and Payments Account.  

20. State four features of partnership. 

21. Explain three factors affecting goodwill.  

22. Distinguish between Average Profit Method and Super Profit Method of calculating 

goodwill. https://www.bsebstudy.com 

23. How will you calculate the amount due to a deceased partner? 

24. A, B and C are partners sharing the profit in the ratio of 3:2:1. They admit D for 
1

6
 th 

share. It is agreed that C would retain his original share Calculate New Ratio. 

25. P. Q and R are partners sharing profits in the ratio of 5: 4:3. Q retires and his share 

was divided equally between P and R. Calculate new profit sharing ratio of P and R. 

26. Distinguish between dissolution of partnership and dissolution of firm. 

27. Receipts and Payments A/c of Maitree Club for the year ended March 31, 2013, 

shows that the subscriptions received were Rs. 25.000. Additional information are as 

follows: 

      1.4.2012  1.4.2013 

       Rs.    Rs. 

Outstanding subscriptions  5,000   3,500  

Subscription received in advance  2,500   3,000 

Ascertain the amount of income from subscription for the year 2012-13 and show how 

relevant items of subscriptions appear in Opening and Closing Balance Sheet. 

28. In what circumstance can a firm be dissolved? 

29. A, B and C are equal partners. Their fixed capitals as on 1st April, 2012 were A Rs. 

10,000. B Rs. 20,000 and C Rs. 30,000. Profits for the year 2012-13 amounted to Rs. 

12,000 which were distributed. Give the necessary Journal entries if interest on capital 

was credited @ 10% p.a. instead of 12% p.a.  

30. X, Y and Z are partners in a firm in the ratio of 3:2:1. On 1st April. 2013 they 

decided to share profits in future in the ratio of 7:5: 4. On that date general reserve is Rs. 
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76,000 and profit on revaluation of assets and liabilities being Rs. 68,000. It was decided 

that adjustment should be made without altering the figures in the Balance Sheet. Make 

adjustment by one Single Journal entry. 

 

31. A. B and Care partners sharing profits and losses equally. They dissolved the firm on 

30th December, 2013 on which date their positions were as under: 

Balance Sheet as on 30th December, 2013 

Liabilities Rs. Assets Rs. 

Creditors 

Capital A/c:"                  Rs. 

A                            30,000 

B                            30,000 

C                            30.000 

60,000 

 

 

 

90,000 

Fixed Assets 

Current Assets  

Cash at Bank 

1,00,000 

40,000 

10,000 

 1,50,000  1,50,000 

All the assets realise less than 10% book value. Creditors were paid in full. Expenses of 

realisation amounted to Rs. 500. Prepare Realisation account, Partners' Capital account 

and cash or blank account.  

PART-B 

32. State any two features of a company.  

33. State the ways of redemption of debentures. 

34. State two objectives of Financial Statements.  

35. State two limitations of analysis of Financial Statement. 

36. State two objectives of ratio analysis.  

37. Give two examples of cash flow from operating activity. 

38. What do you mean by Fixed Charges and Floating Charges?" 

39. What is the difference between Reserve and Provision ? 

40. What is meant by Analysis of Financial Statement? 

41. What is meant by Comparative Financial Statement ? 

42. Distinguish between preference share and equity share. 

bsebresult.in



 

43. State any three differences between shareholders and debenture holders.  

44. Why is Cash flow statement prepared? 

45. Current ratio is 2: 1. Working capital is Rs. 1,50,000. Calculate the amounts of 

current assets and current liabilities.    

46. What do you mean by company? State its essential features. 
 

47. Rudra Company Ltd. issued 35,000 equity shares of Rs. 10 each at a premium o f Rs. 

2 payable as follows:
 

On Application    Rs. 3
 

On Allotment   Rs. 5
 

       Balance on first call
 

Record Journal entries.
 

48. Urvashi Ltd. purchased one established business for Rs. 50,000, payable Rs. 15,000 

in cash and the balance by issue of 9% debentures of Rs. 100 at a discount of 10%. Give 

journal entries in the books of Urvashi Ltd. 
 

49. From the following data, prepare a statement of profits in the comparative form:
 

Particulars    31.3.2012  31.3.2013
 

     Rs.   Rs.
 

Sales      6,00,000     8,00,000
 

Gross Profit Ratio    30%   50%
 

Administrative Expenses   40,000  1,00,000
 

Income Tax     50%   50%
 

 

50. Calculate the Debtors Turnover Ratio from the following information: 

Total Sales   Rs. 4,00,000 

Cash Sales   20% of Total sales 

Opening Debtors  Rs. 40,000 

Closing Debtors  Rs. 1,20,000 

 

bsebresult.in


